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1. Choose the most suitable answer from the following

options :1x16=16

(i)

(ii)

(iii)

Which prefix is added to form Antonym of 

the word ‘Stabilize’:

(a) Un

(b) De

(c) Il

(d) In

Tense is :

(a) Nothing but time

(b) A correspondence between the transmitter 

      and the receiver

(c) A correspondence between our concept 

     of time and verb-form

(d) All of these

S.O.N. Rule relating to change of reported 

subject stands for: 

(a) Singular-Object-Noun

(b) Subject-Object-No Change

(c) Singular-Object-No Change

(d) All of these

GROUP - A
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6x2 = 12

OR

4x1=4

9.

10.
6

4

3 1602204/1601104/P1601104

(v)

(vi)

(vii)

(iv) A man who believes in the existence of god is:

(a) Theist

(b) Atheist

(c) Pantheist

(d) Native

One who hates mankind:

(a) Misanthrope

(b) Callous

(c) Prejudiced

(d) Pre-occupied

The word synonymous to ‘Agony’ is :

(a) Pain

(b) Misery

(c) Distress

(d) All of these

The speaker’s statement is reported using 

different language with exactly the same 

meaning in case of :

(a) Direct speech

(b) Indirect Speech

(c) Both (a) and (b) above

(d) None of these

P.T.O
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(viii)

(ix)

(x)

(xi)

 

The punctuation mark to be used after the 

sentence ‘What a lovely rose’ is:

(a) ?

(b) !

(c)  ̶

(d) :

The word ‘too’ is:

(a) Noun

(b) Preposition

(c) Adverb

(d) Conjunction

Time and tense are :

(a) All the same

(b) Invariably Opposite

(c) Two Phenomena apart

(d) None of these

A sentence in the Active Voice is called:

(a) Passive Sentence

(b) Active Sentence

(c) Exclamatory Sentence

(d) Command
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(i)

(ii)

(iii)

                 

1x4=4

(iv)
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7.

8.

            

What do you mean by Homophones? Explain with 

three examples showing their different meaning.

What is prefix? What role does it play in word 

formation? Give two examples to prove your point.

Write a paragraph in 200 words on “Effects of 

Sound Pollution” OR “Man without Civic Sense”.

Define Preposition and Interjection using relevant 

examples. Use the preposition ‘In’ in two different 

contexts.

OR

OR
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(xiii)

(xiv)

(xv)

(xii) A question tag is placed :

(a) In the very beginning

(b) Exactly in the middle

(c) At the end

(d) Any where as the need may demand

Which sentence is free from flaws:

(a) Sonam marries with Mohit

(b) He resembles with his father

(c) Neither he nor his brothers are 

     responsible for this

(d) It is I who has committed this wrong

A Narrative Paragraph:

(a) Describes an incident or a happening

(b) Has to be clear and interesting

(c) Is most frequently used in novel writing, 

     personal development etc.

(d) All of the above

An Active Sentence cannot be changed into 

a passive one if :

(a) If is in the Perfect continuous tenses

(b) It is in the Future perfect tense

(c) It is in the Future imperfect tense

(d) Both (a) & (b) above

OR

Define with suitable examples Direct speech and 

Indirect speech. State the rules concerning change

in the Tense of Reported Speech when the Reporting 

Speech is in the past tense and Reported Speech in 

the present tense.

                 GROUP  - C

6 x 3 = 18Answer all Three Questions.

6. State six rules relating to ‘Use of Capital letters’ 

giving at least one example for each. 3+3=6

P.T.O
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2+2+2=6

3+3=6
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(xvi)A Wh-Question:

(a) Opens with a question word

(b) Is to be answered in complete terms

(c) Both (a) and (b) above

(d) None of these

Answer all Four Questions.4x4=16

Read the under mentioned passage carefully

 and answer the questions that follow:

Many thoughtful people are now worried about 

scientific inventions, because they have become so 

dangerous to man that they may burn up our whole 

civilization. They suggest that we should call a halt 

to scientific research.

            But it is impossible to carry out their 

suggestion. Science must investigate all material 

changes in man’s world. 

The aim of scientist is to study how nature 

may be controlled and used for the benefit of man. 

Progress of one kind or another cannot be hold to 

stand still. Nothing can stop it, and as time goes on, 

scientific progress is likely to proceed at an even 

faster rate. The problem as to how the discoveries 

of the scientists are to be applied to the ordinary 

issues of everyday life is not really a scientific 

problem. It is for the politicians and the people at 

large to decide  whether or not an atom bomb or 

a hydrogen bomb should be dropped on a foreign 

country.

2.

3.

5.

4.

Why do many thoughtful people suggest a halt to 
scientific research?

Why can scientific research not be brought to a halt?

It is the application of scientific inventions that 
really makes all the difference. Explain.

Suggest a suitable title to the given passage and 
justify it.4

4

4

4
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